





राष्ट्रीय मूल्यांकन एवं प्रत्यायन परिषद

विश्वविद्यालय अनुदान आयोग का स्वायत्ते संस्थान

NATIONAL ASSESSMENT AND ACCREDITATION COUNCIL

An Autonomous Institution of the University Grants Commission

Certificate of Accreditation

The Executive Committee of the National Assessment and Accreditation Council on the recommendation of the duly appointed Peer Jeam is pleased to declare the Rayat Shikshan Sanstha's

Bharatratna Dr. Babasaheb Ambedkar College

Aundh, Pune, affiliated to University of Pune, Maharashtra as

Accredited

with CSPA of 2.07 on four point scale

at B grade

valid up to Fanuary 07, 2016









Quality Profile



Bharatratna Dr. Babasaheb Ambedkar College

Place: Shinde Sarkar Wada, Aundh, Pune, Maharashtra

| Criterion | Criterion Score (Ci) | Weightage (Wi) | Criterion X Weightage (Cix Wi) |
|--|-------------------------|-------------------|-----------------------------------|
| I. Curricular Aspects | 64 | 10 | 640 |
| II. Teaching-learning and Evaluation | 65 | 40 | 2600 |
| III. Research, Consultancy and Extension | 40 | 05 | 200 |
| IV. Infrastructure and Learning Resources | 60 | 15 | 900 |
| V. Student Support and Progression | 65 | 10 | 650 |
| VI. Organisation and Management | 60 | 10 | 600 |
| VII.Healthy Practices | 50 | 10 | 500 |
| | | 100 | $\sum C_i W_i = 6090$ |

Institutional Score =
$$\frac{\sum C_i W_i}{\sum W_i} = \frac{6090}{100} = 60.90$$











राष्ट्रीय मूल्यांकन एवं प्रत्यायन परिषद

विश्वविद्यालय अनुदान आयोग का स्वायत्त संस्थान

NATIONAL ASSESSMENT AND ACCREDITATION COUNCIL

An Autonomous Institution of the University Grants Commission

Quality Profile

Name of the Institution : Rayat Shikshan Sanstha's

Bharatratna Dr. Babasaheb Ambedkar College

Place: Aundh, Pune, Maharashtra

| | Criteria | Weightage (W _i) | Criterion-Wise Grade Point Averages (Cr _i GPA) | $W_i \times Cr_iGPA$ |
|------|---------------------------------------|--------------------------------|---|--|
| I. | Curricular Aspects | 050 | 2.10 | 105 |
| II. | Teaching-Learning and Evaluation | 450 | 2.14 | 963 |
| III. | Research, Consultancy and Extension | 100 | 1.65 | 165 |
| IV. | Infrastructure and Learning Resources | 100 | 1.90 | 190 |
| V. | Student Support and Progression | 100 | 2.30 | 230 |
| VI. | Governance and Leadership | 150 | 2.00 | 300 |
| VI | I.Innovative Practices | 050 | 2.30 | 115 |
| | Total | $\sum_{i=1}^{7} w_i = 1000$ | | $\sum_{i=1}^{7} \sum_{i=1}^{N} (Cr_i GPA) = 206$ |

Institutional Score =
$$\frac{\sum_{i=1}^{7} (W_i \times Cr_i GPA)}{\sum_{i=1}^{7} W_i} = \frac{2068}{1000} = \boxed{2.07}$$

Grade = B

Descriptor =

GOOD

Date: January 08, 2011



HARaujeur. Director



Scores rounded off to the nearest integer



This certification is valid for a period of Five years with effect from January 08th 2011

An institutional CGPA on four point scale in the range of 3.01 - 4.00 denotes A grade (Very Good), 2.01 - 3.00 denotes B grade (Good), 1.51 - 2.00 denotes C grade (Satisfactory)



राष्ट्रीय मूल्यांकन एवं प्रत्यायन परिषद

विश्वविद्यालय अनुदान आयोग का स्वायत्त संस्थान

NATIONAL ASSESSMENT AND ACCREDITATION COUNCIL

An Autonomous Institution of the University Grants Commission

प्रो. एच. ए. रंगनाथ निदेशक

Prof. H.A. Ranganath

Director

FASc, FNASc, FEAL, FNA.,

NAAC/RAR/EC-54/81/2011/

January 10, 2011

The Principal

Rayat Shikshan Sanstha's Bharatratna Dr. Babasaheb Ambedkar College No. 85, Shinde Sarkar Wada, Aundh Pune - 411007 Maharashtra

Dear Principal,

Wishing you a Happy and Prosperous New Year - 2011

I am glad to inform you that the outcome of the Re-accreditation exercise of your institution has been processed and approved by the Executive Committee of NAAC and your institution has been Accredited for a further period of five years with a CGPA of 2.07 on a four point scale at B Grade valid from 08/01/2011. The provisional certificate of accreditation will be sent to you shortly. However, the original certificate of accreditation with the quality profile will be presented to the heads of accredited institutions during the "NAAC Accreditation Awards Ceremony" to be convened in due course. I am sure the detailed peer team report given to you already by the peer team will enable the institution to initiate further quality enhancement measures.

With best wishes,

Yours sincerely,

भारतरल डॉ. याजासहिब संबिडकर महाविद्यालय, क्षीयनं व, गर्वे - ७.